run_13059011 FGT _ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Feb 28 04:04:03 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

ADC-ped

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=1 }

Bo?
[
%)

a)
<

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1LARM=0,APV=2 }

i i i
1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=3 }

ADCped

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=4 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

ofE—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
o=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 04:06:06 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

i i i i
< 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

APV channel




run_13059011 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA

Tue Feb 28 04:06:41 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

60

RMS (ADC-ped)

50

40

30

20

10

||||||11T '.*.:'ﬂrr[rru|uu|m1

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

i
120
APV channel

= =

g 70 [

Q

<

< 60

12} =

3 H
50 BH

H

40 =

30

20

10

°'I11I|IHI'|11IIIHI'I]

0

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

APV channel

70

60 |

RMS (ADC-ped)

50

40

30

20

10

[CADC RMS for RDO=1,ARM=0,APV=3__}

i
100 120
APV channel

20 40 60 80

60

50

RMS (ADC-ped)

°'I'I'I'T[HH!II11]11IIlIIII[E‘I:!JI

40

30

20

10

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

i
20 40 60 80 100 120
APV channel

60

50

RMS (ADC-ped)

40

30

20

10

20 40 60 80 100 120
APV channel




run_13059011 FGT _ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Feb 28 04:04:07 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=6 }

AD%ped

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=1LARM=0,APV=7 }

ADGped

1
2000 3000 4000
raw ADC

1
1000

[ADC for FGT RDO=1,ARM=0,APV=8 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=0,APV=9 |

ADC-ged

10

2000 3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

il |r|1|[|1|r|1|r|]m |rm[|1|r|1m

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—- - -
< =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
o
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 04:06:07 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059011 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Tue Feb 28 04:06:42 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

70

60

50

40

30

i i
100 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

120

100 [+

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

50 |

40

30

20

10

60 [

i
120

[—
=
[—
L=
=
0

APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

140 [
120 P

100

60 |2
40 [—

20 |+

80 [r

APV channel

[[ADC RMS for

RMS (ADC-ped)

80 p—

70

60

50

40

30

20 —/——

10 =

0

20 40 60 80 100 120
APV channel




run_13059011 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Feb 28 04:04:10 2012

ADC for FGT RDO=1ARM=0,APV=12 _§

ADC-ped

1000

2000

3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=0.APV=13 |

ADOpgj

I
3000 4000
raw ADC

[ ADC for FGT RDO=1.ARM=0.APV=14 ]
—

ADCiged

1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=0,APV=15

ADCped

o

1000

2000 3000 4000

raw ADC

[ Apc for

GT RDO=LARM=0,APV=16

1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
0
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—1- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 :-:— oo
=
ofE—r-
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
o =
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel

. 8 .0 . RS

10

10"

10°

10"

10

10"

10

10

10

10"




run_13059011 FGT MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 28 04:06:08 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13059011 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 28 04:06:43 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

APV channel

[ADC RMS for

RMS (ADC-ped)

70

60 [

50

40

30 |

20

10

0

APV channel

[CADC RMS for

RDO=1,ARM=0,APV=14 |

RMS (ADC-ped)

50

40

30

20

10

SOTTITTITIITI ] T

APV channel

[CADC RMS for

RDO=1,ARM=0,APV=15 }

RMS (ADC-ped)

o = i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=0,APV=16 }
5 L S R e e
g
[}
a
<
S oM b e P e e
b
[
i
120

APV channel




run_13059011 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Feb 28 04:04:14 2012

ADC for

FGT RDO=1ARM=0,APV=17 |}

AD%ped

[ 1000

2000 3000 4000

raw ADC

[ AoC for

FGT RDO=1,ARM=0,APV=18 _§

I
3000 4000
raw ADC

1
1000 2000

[ Apcfor

FGT RDO=1ARM=0,APV=19 __§
—

ADGped

1 1
1000 2000 3000 4000

raw ADC

[ ADC for

FGT RDO=1,ARM=0,APV=20

AD%ped

0

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=0,APV=21 _§

0

1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17 }
= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
of—
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=18 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=19 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 =< <= - - -
< =
3000 - - .- - -
=
2500 pm—r v v - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = SR
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=20 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=21 .
= 4000
]
&
Q 3500
<

3000

2500

2000

1500

1000

500

0

APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 28 04:06:10 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13059011 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 28 04:06:45 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

RMS (ADC-ped)

T PR

° TH1|

L i i i
20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

50 |

40 F

RMS (ADC-ped)

30
20 |-

10

" " " " " " " " " " " " " " " 1 " " " 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=19 |

45 F—
40

35

RMS (ADC-ped)

30
25
20
15

10 f

5
o i i i i i i
20 40 60 80 100 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=20 _}

60
—

50

RMS (ADC-ped)

40

30 fp—

20

10

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

RMS (ADC-ped)

i
120
APV channel




run_13059011 FGT _ADC _1,Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 04:04:18 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

.
¥
Q

a)
<

L
[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

I
3000 4000
raw ADC

2000

[ADC for FGT RDO=LARM=1APV=2 }

ADOzped

1 1
1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

ADCped

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=4 }

AD%ped

2000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r!1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=1,APV=1

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=2

" 1
40 60 80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
= =

3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=3

- 4000 p—
5] = . .
oo =
Q 3500 F=— - PR PR
< =
3000 f=— EEE S EETE
2500 = RPN N R .
2000 f=— Rl O R
=
1500 f=— - EEEE
1000 P=— - v - b e e e : EER A EEEE )
= 2
= 2
500 s e e . EEE P PR
= 8
Of—--smmpmmmnne B EER A ERER O
= 2
= 1
0

[ ADC for FGT RDO=1,ARM=1,APV=4

40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. 4 . . R

10°

10"

10°

10

10°

10°

10"

10°




run_13059011 FGT MPV_1,Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 04:06:11 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13059011 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 04:06:46 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

90

80

RMS (ADC-ped)

70

60

SPIEERIEIICIICNACHACKICEI

50
40 p—
30 B/
=
20 f=—
=
10 p—
=
= i i i i
0 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

g 70—
2 —
Q —
2 60
0 : -
2 H
x 50 =I
H
H
40 f—
=
=
30 fF—
=
=
20 I/
10 f—
=
o = i i i i i i
0 20 20 60 80 100 120
APV channel

[CADC RMS for RDO=LARM=L1,APV=3_}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

i
120
APV channel




run_13059011 FGT _ADC _1,Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 04:04.:21 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

In=2,Disc=

b

Ime

Tue Feb 28 04

run_13059011_FGT_MPV_1,T

12 2012

06

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13059011 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Tue Feb 28 04:06:47 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13059011 FGT ADC_1,Timebin=2,Disc=2,asmb=2AB

Tue Feb 28 04:04:23 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

ADC-ged

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=13 _§

AD%ped

I
3000 4000
raw ADC

1
1000 2000

[[_Apc for FoT RDO=1.ARM=1.APV=14__ ]
—

AD%‘ped

1 1
1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=15

0 1000

2000 3000 4000

raw ADC

[__ADC for FGT RDO=1,ARM=1.APV=16 _§

Angped

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 f=——
=
500 fm——
=
=
0f—
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H o o o
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
EL Tl e B e A S R P PP PP PP PP
=
500 f=—|- - - EERREE
=
L R L T e REEth S
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 f=—
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
0=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
.- 4000
9 3500 -
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... .3 . L A

10

10°

10°

10°

10"

10°

10"

10°

10"




run_13059011 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Tue Feb 28 04:06:12 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

MPV (ADC-ped)

1500

1000

500

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

PRTTTT [-m-r]-'-1-|-|-|-|-|-r1-[1-r




run_13059011 FGT _RMS 1,Timebin=2,Disc=2,asmb=2AB
Tue Feb 28 04:06:47 2012

[CADC RMS for

RDO=1,ARM=1,APV=12 }

RMS (ADC-ped)

100 ff—----ime g e e e P TP PP PT CEREEEEEEP TP PEPEPEREEE e CEREEEEPEP TP PEPEPEREEE SEREREER

8o fb—-c - b HE B | EAEEE R R EPEPEPEPE E  RCETETEPEPEPERY R ETEPEPEPE R ERCETETETT PEPERE REPEPERS
o FRHH - 1= P! U B L O~ 1 : o PR | TR | IS R

m | dms oo dHlcosacosadboacs : : 5 ey Bt 6 Tt 1 S R A ¥

20

°'I'|'I'|'f -

i
120
APV channel

[ADC RMS for

RDO=1,ARM=1,APV=13 '}

RMS (ADC-ped)

60‘:_—
-0
—
oy
30 P ef g
20 f—+
10
L—
L=
= i
0 120

APV channel

[CADC RMS for

RDO=1,ARM=1,APV=14 |

RMS (ADC-ped)

70 F=
60 E

50

20 [

30

20

10

0

[CADC RMS for

RMS (ADC-ped)

70 = R A R A e e e e
=|
L e T T T LT
50 ¢ S A R R R e fpoosoosoacocssalilsHpocd LI EEELLELELELELLE SEEEE ICEEELECEELEELELE i SR EELELELELLLEL SSECEELLELELEEEELEELELE AR o2
40 f=—---""--L =qpedpql{peessececasag|sjiip==4 e1[HHESl === =9Fp=2===9Hr=4 pooagp|je=eadppe= SR B B B o R ¥ EERCEREREE & SERl B Bk B o X R N B
e el i) b L S e - T 5
20 :
10 :
® i i i i i i
0 20 40 60 80 100 120
APV channel

[[ADC RMS for

RMS (ADC-ped)

APV channel




run_13059011 FGT ADC_1,Timebin=2,Disc=2,asmb=2AB
Tue Feb 28 04:04.27 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 | [ ADC for FGT RDO=1,ARM=1,APV=17 |
- - 4000 10
] . . 3
7 S
%o Q 3500
< <
3000
2500 1
2000
10
1500
1000 10
500
0
2
1000 2000 3000 _ 4000 a0
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=1,APV=18 | [ ADC for FGT RDO=1,ARM=1,APV=18 }
- 4000 p—
3 = . . . . . .
& =
9 3500 f=—
< =
3000 f/—
= 1
2500 fm—
2000 fm/——
=
1500 f=—
= A
1000 f=—
=
500 f—
2 2 2 =
1 =
= . . . . 2
i i =X . .8 1. 4 . . . R . . . A . . . A . . . A . 10
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=LAPV=19 | [ ADC for FGT RDO=1,ARM=1,APV=19 }
- . 4000 p=
3 . . . 2 E . . . . . .
2 2 2 2 2 = 2 2 2 2 2 2
o g 3500 F=fe +e e .-
< < =
3000 =i - - - - - - .- 1
=
2500 f=r—- - - - - - - .- .
=
2000 = sebe-
=
1500 g— ------- 2o 107
1000 f=r—- === -~ 2o
o =
=o 500 f=— e - - - e e as . <
=
0 = e 102
i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=1,APV=20 | [ ADC for FGT RDO=1,ARM=1,APV=20 |
- 4000 p—
] = T
=3 = 2
Q 3500 f=—- {1~ EEE PN SRR O EEEE -
- < =
: 3000 fm—1|-4-{--t- R EEEE B R e
2500 fp=—y-{-{- -1 - U N - AN &
2000 fm—|-{-1{- -t - ocalpecaqpqlesess qpoceo
=
1500 f—|-{-1- -t - EEE TR B R -
= b -1
1000 P=—|- - {- -t -r-- - dqe b g e B
= o
= .
500 fm—|- {- {- -t -p e e b ] e
r—y .
Of |- - -t t--efmaqrmepmne]-q--- - e
= 0 -2
= i 10
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=1,APV=21 | [ ADC for FGT RDO=1,ARM=1,APV=21 }
P = 4000
g . . . 3
P B
Q
4 Q 3500
< <
3000
2500 2
2000
10
1500
.
1000 W
500
0
10?

0 1000 2000 3000 4000
raw ADC APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=2,asmb=2AB
Tue Feb 28 04:06:13 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059011 FGT _RMS 1,Timebin=2,Disc=2,asmb=2AB
Tue Feb 28 04:06:48 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

70

60

RMS (ADC-ped)

50

40

30

20

10

= CEERIIICCEERNI0CEERNII0CEEENIIOCEEK)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

60 == T e e e T rre e e s D L e D e

50

RMS (ADC-ped)

40

30

20

10

°THI]11'I'I'!'HII]11'I'I'!'HII[?Hi’_ﬂIEI'

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

60 [

50

RMS (ADC-ped)

40

30

20

10 H

0
APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

70

60

RMS (ADC-ped)

50

40

30

TT ]

20

10

=
=
=
0

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

) T T T T T T T TS TTTTTTT T T T T T e TTTTTTT T T T

80

70

RMS (ADC-ped)

60

i 1I[I1II]HI‘I|H1I

50

40

30 |/

20

10

0

APV channel




run_13059011 FGT _ADC 1,Timebin=2,Disc=3,asmb=3DA

Tue Feb 28 04:04:31 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

.
¥
Q

a)
<

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=1 }

ADgped

1 I
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

AD%ped

1
2000 3000 4000
raw ADC

1
1000

[ADC for FGT RDO=1,ARM=2,APV=3 }

ADCped

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=4 }

0 1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0
4000

o =
5] = .
o = :
Q 3500 |- - {1 f - EETE B BYERE | EEE R | REPrr
< =
3000 = - 1=t - - - - EEES B R £ R g
=
2500 =g+ - 1=t - SR B B R £ EEE RO 1
= 2
2000 f=t—|- - 4= 1< f -0 - 1 EEEX B B3 EEE | EEE EURY | R X
= 8
= 0 -1
1500 == - 1= 1 -} - - -+ R [ O R N 10
1000 P=t—|- A= 41 -f - - - 1 EEEE B BUEEE £ ERE R
= 2
= 2
500 |- - 4- 4o} -1 Y 1 1
= n
= i -
(=5 R FEEE C8 B S £ 10
= i i i i i
0 20 60 80 100 12
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

10°

10"

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
i
=
0

[ ADC for FGT RDO=1,ARM=2,APV=2
4000

" 1
80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldEINTERIAGNATGRAARNAGRARRIATENATENATENAG]

10

[ ADC for FGT RDO=1,ARM=2,APV=3
4000

80 100 120
APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10

10"

© TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=4

80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

10°

10"

R i IE RN ARG RN AR AIGRI RN AT RN AR AT RN AR AT

APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=3,asmb=3DA
Tue Feb 28 04:06:15 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13059011 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Tue Feb 28 04:06:50 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

g 140 f—
2 —
8 P,
2 120 f/—
< =
[%] —
2 —
z 100 f—
P
80 -
L
60 [
a
40
LT
20 [
i i
0 0 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

50 fr

40

RMS (ADC-ped)

30 |+

20 r

10

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

=3 ——
3 =
(e —
8 —
< —
o 40 f—
2 —
'3 ‘.—
30 fb—
[
20 |
—
Py
L—
10
r—
o =
0

APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

F

RMS (ADC-ped)

BJ=IXECOO3IXECOD]

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

.

. ? é é é s s
o= 5 T 5 5 5 5

o Bt J1- A4F: PR - Tnntt AT e R
T At 5 : IR g L | L
) Bl B =i = —
. ) ) ) : i . . : ' ) ) : i ) ) : ' I i : ) ) ) ; )

120
APV channel

RMS (ADC-ped)




run_13059011 FGT _ADC 1,Timebin=2,Disc=3,asmb=3DA

Tue Feb 28 04:04:34 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

[ 1000 2000 3000 4000

[ADC for FGT RDO=1,ARM=2,APV=6 }

raw ADC

ADGped

[ADC for FGT RDO=1LARM=2,APV=7 }

1000 2000 3000 4000

raw ADC

ADGped

1
1000

[ADC for FGT RDO=1,ARM=2,APV=8 }

1
2000 3000 4000

raw ADC

ADCrged

1000 2000 3000 4000

[ADC for FGT RDO=1,ARM=2,APV=9 }

raw ADC

AD%ped

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

© AR R R A A

[ ADC for FGT RDO=1,ARM=2,APV=6 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=7 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

" 1
100 120
APV channel

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|r|1 I|‘I1II‘|1 T

[[ADC for FGT

Py
]

O=1,ARM=2,APV=8_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

1 H|'I1II'|HI'I

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=2,APV=9 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

40

80

100 120
APV channel

APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=3,asmb=3DA
Tue Feb 28 04:06:16 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13059011 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Tue Feb 28 04:06:51 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

RMS (ADC-ped)

140

120

100

80

60

40

20

f

°'I'HIIII|111"I'I'I'|'HI|III]1'I'I'|'I'I'

[ ADC RMS for RDO=1,ARM=2,APV=6 }

RMS (ADC-ped)

120 |
—
100
M
80
60 |
20 |-

20 [

[CADC RMS for

RMS (ADC-ped)

70

60

50

40

30

20

10

0

AR

i
120

APV channel

[CADC RMS for RDO=1,ARM=2,APV=8__}

RMS (ADC-ped)

[[ADC RMS for

RMS (ADC-ped)

90 £

80

70 |

60

50

40

30

20

10

0

APV channel




run_13059011 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 04:04:38 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=3,asmb=3AB

Tue Feb 28 04:06:17 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059011 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 04:06:52 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13059011 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 04:04:40 2012

ADC for FGT RDO=1ARM=2,APV=17__§ [ ADC for FGT RDO=1,ARM=2,APV=17 |

ADgApecl

1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=2,APV=18 _§

ADgped

I
3000 4000
raw ADC

1
1000 2000

ADC for FGT RDO=LARM=2,APV=19
—

ADCped

I
3000 4000
raw ADC

i i
1000 2000

ADC for FGT RDO=1,ARM=2,APV=20

ADCrged

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

ADOpgj

0 1000

2000 3000 4000

raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT

RDO=1,ARM=2,APV=18 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

|r|1|[|1|r|1|r|]m |rm[|1|r|1m

il

°'I1II'|

[[ADC for FGT,

Py
9
o]
[y
>
X
<|
N
>
T
<

I
iy
©

b

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

" 1
60 80 100 120
APV channel

L0 LN L8 A L LA K LA i

[[ADC for FGT

RDO=1,ARM=2,APV

=20}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

60 80 100 120
APV channel

il

© AT TR TR I

[ ADC for FGT RDO=1,ARM=2,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

rm
m
rm:
m
rm:
o
L
b=
=
L
b=
=
L
I
0

APV channel



run_13059011 FGT MPV_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 04:06:17 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

-500

PRTTITH

20 a0 0 a0 100 120
APV channel




run_13059011 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 04:06:52 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

180

ICEEERN)

160

1100

140

RMS (ADC-ped)

120

EEENN]

100

13300

80

60

40

20

0

] =CEEERIIJOCCEERN]

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

60 - -mc e me e e PP P P PP S PP PP DR

RMS (ADC-ped)

50 - f A CERERTERITPETN £ B e e R P PR PEPLPEE REREER

40

30

20

[EEEEEERNNIIIXI3IT

10

i
120
APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

80 E

70

RMS (ADC-ped)

60

50

40

30

20

10

0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

APV channel




run_13059011 FGT ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 04:04:43 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




run_13059011 FGT MPV_1,Timebin=2,Disc=4,asmb=4DA

Tue Feb 28 04:06:18 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059011 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 04:06:53 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13059011 FGT ADC 1,Timebin=2,Disc=4,asmb=4DA

Tue Feb 28 04:04:45 2012

IADC for FGT RDO=1,ARM=3,APV=5

AD%ped

1000 2000

3000

IADC for FGT RDO=1,ARM=3,APV=6

4000
raw ADC

AD%ped

1
1000 2000

1
3000 4000

[ADC for FGT RDO=1.ARM=3.APV=7

raw ADC

i i
1000 2000

1
3000 4000

IADC for FGT RDO=1,ARM=3,APV=8

raw ADC

ADCped

1000

2000

3000

ADC for FGT RDO=1,ARM=3,APV=9

4000
raw ADC

= ADC-ped

=)

0 1000

3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=5_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 p=—
=
=

o

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f—
< =
3000 =
2500 =
=
2000 =
=
1500 f=
=
1000 p=
=
500 =
= 8
0 = +
=L, . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=7 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[[ADC for FGT RDO=1,ARM=3,APV=8_}

4000

3500

ADC-ped

3000

2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
==
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© A A A A A

APV channel

.4 .0 EO.d A A

10°

10"

10

10

10

10"

10

10"

10°




run_13059011 FGT MPV_1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 04:06:18 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059011 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 04:06:53 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

45

40

35

30

25

20

15

10

0

5

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

50

40

30

20

10

'|'I'H

I:_I
— 1

O—I-II11'I-|-|-II‘I-I-I-I‘I‘Ii-I-I"II‘II‘I

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

50

40

30

20

10

'.*.”.‘."HHI"I'HI]'IT

IIIIjIIII

S=IXECO3IXED

APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

70

60 |

50

40 |

30

20 |

10

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

0.8

0.7

06 F=

05 [+

0.4

0.3

0.2

0.1

0

APV channel




run_13059011 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 28 04:04:49 2012

[ ADC for FGT RDO=1,ARM=3,APV=12 |
0

3

ADC-pe

[ 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=3,APV=13 _§

ADCiged

I
1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=3,APV=14 _§
—

i i i
1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=15

1000 2000 3000 4000

raw ADC

[[_ADC for FoT RDO=1,ARM=3,APV=16 _§

ADCped

3000 4000
raw ADC

[[ADC for FGT RDO=1,ARM=3,APV=12_}

= 4000 p—
] = . . . . . .
& =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
=
500 p=—
=
=
ofE—
= i i i i i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 "}
= 4000
2 0 0 0 0 0 g
T
Q .-
8 3500
<

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=3,APV=14 }

" 1
80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— Sfee-
2 =
3000 f=— Sfee-
=
2500 = Stees
=
2000 = SELE
=
1500 f=— SELE
1000 f=— SELE
=
500 f=— afhzas
=
= R
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=3,APV=15_}
- 4000 p—
5] = . . .
e = .
Q 3500 f=— - -
< =
3000 f=—---
2500 fm— - - -
2000 f=—- - -
=
1500 f=— - - -
1000 f=—- - -
=
=
500 fp=—- - -
=
=
=
=
0

20 40 60

[ ADC for FGT RDO=1,ARM=3,APV=16 }
4000

80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel




run_13059011 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 04:06:20 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13059011 FGT _RMS 1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 28 04:06:54 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

|

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

APV channel

70 |k

60

RMS (ADC-ped)

50 |

40

30

20 |

10

0

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

APV channel

RMS (ADC-ped)

[ADC RMS for RDO=1,ARM=3,APV=15__}

i
120
APV channel

70

60

RMS (ADC-ped)

50

40

30

20

10

°'I111|HH|'I'I11]IIH [T I'III_P

0

| ADC RMS for RDO=1,ARM=3,APV=16 }

i i
40 60 80 100 120
APV channel

60

50

RMS (ADC-ped)

40

30

20

10

|||||||H[HH[HH

40 60 80 100 120
APV channel




run_13059011 FGT ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 04:04:52 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13059011 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 28 04:06:21 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059011 FGT _RMS 1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 04:06:55 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13059011 FGT _ADC _1,Timebin=2,Disc=5,asmb=5DA

Tue Feb 28 04:04:54 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

[ 1000

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

ADé}ped

1
1000

I
2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

1000

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

ADgAped

0 1000

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=4 }

AD%ped

2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=0

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1 }
- 4000 p—
g = : : : : : :
8 3500 fm—{- == qre-e- EEEEE EET TR
< = .
3000 P=— == t----- Focgqesofpsosss
2500 fm—v{- == - e en EEEEE T SEP
2000 fm— - - --t----- EEEEE P R
= 5
1500 = v|= s = np e s EEEE S EETY PR
= 5
1000 P=— o[- - - e e e EEEEY PR PR :
= 2 2 2 2 2 2
500 fm— ERS PR PPRED
= .
Of— e et Rt S
= . i . i i . i . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=4,APV=2 }
- 4000 py
] =
2 =
Q 3500 fF— - {-{--¢- adlasaos I R R
< H
3000 EF— |- {-{--F- P PR R BX R
=
2500 p— - {-{ -~ adlasaos I R R
=
2000 SR e
=
1500 fF— - {-{--r- R . R R () A
1000 fF—-1{-1--+- L EEELE peegpylegiefee
L
500 :—:— clloofs odboseo Loodpdellolas
rm
)= -t .-
s i i i i
20 20 6 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 }
- 4000 p
5]
o
Q 3500
<

3000

2500 f=

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=4,APV=4

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

107

10

10°

10"

10

10°

10

10"

10

10




run_13059011 FGT MPV_1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 28 04:06:21 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

-
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059011 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Feb 28 04:06:55 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

RMS (ADC-ped)

200 =T T e s e e r e T e e m e e e er e rm e e erermesrerierermemeresrerereerereerereeemrerierereesererierereemereeees

180 f=
160 =
140
120 [
100
80 |
60 [

40

20 B

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=1 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

RMS (ADC-ped)

160 p—
140

120 |
100 P
80 [
60
40

20

I

0

120
APV channel

[CADC RMS for RDO=1,ARM=4,APV=3__}

RMS (ADC-ped)

120

100

80

60

40

20

CRTTITTTITT 1'I'II'ITI]'I'I1'|T

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

RMS (ADC-ped)

80

70

60

50

40

30

0 m—

=
=
0

120
APV channel




run_13059011 FGT _ADC _1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 28 04:04:58 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

In=2,Disc=

b

Ime

Tue Feb 28 04

run_13059011_FGT_MPV_1,T

22 2012

06

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel
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Tue Feb 28 04:05:22 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

ISC=

2,D

30 2012

in

b
06

Ime

Tue Feb 28 04

0 1]

run_13059011_FGT_MPV_1,T

2,ARM=

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel
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